ojn

® 34



A

27 et

=
=

B, AA R ol EA

=
=]

A2, o

AP,

2

b

2.

()
ol






4. o IFA oABCD = Attha]Eolth, AABC = 80cm? , ADOC =
30cm? ¥ W], AOBC 9] Hol]=?

A D

@ 20cm? @ 30cm? @ 40cm?

@ 50cm? ® 60cm?



5. Tt %3 Zo] AD//BC Q1 AftHE]E ABCD |4 aDCO 9] o]
7} 40 ¢ wj, AABC 9] Yol & Foteiet
(T, 2A0 =CO)




6. 2 1™} Eo] AD//BC A& ABCD 941 OD : OB =2 : 3
olt}. ABOC = 90cm? ¢ w], bABCD 9] YWolE F#5todat, (&, &
= At

A D




7.

o} 11°] DABCD & HaApAHol ), o
714 AC 19] 3 4 P o] disto] BP = DP
o ), DABCD ©] Wolg Fatolet.

5 L
=%



8. ThS 1o gABCDE nf2Ro|th. AE = BF = CG = DHY
o, oEFGH &= ©]H A <1717



th& 13l BD& 2AZE ABCD O] A

E

tjZtAelt}. /ABD, /BDC 9] o] 52 40]
AD, BC o Wb AL A7 E, Fe & o,
DE = 8cm ¥ ], oEBFD 9] E#+7

O

@ 30cm @ 32cm ® 34cm

@ 36cm ® 38cm




10. oS 133 e HPAAF ABCDOIA H E= CD 9 3ol
AP :PE =2:19°]t}. gABCD 9] Hol7l 60 ¥ w, AAPQ 2] Ho|=

Tatelat,

A D




A D
G

® 20cm? @ 40cm? ® 60cm?

@ 80cm? ® 100 cm?

_q]



12. the %7 2 BHARG ABCD A DE : BC = 1: 29 1,
AADE + AFEC 9] 3ES WA E ABCD 9] Hol 9] & #je17}?

A D F
B C
1 1 1
@ ? HH @ E HH



